H & 0l & AHS B Ml A

o9l FRida #e (el ®9)

SN -3 S(3H) - HRAY - BES Off Arod ol 3 o HRs2
43,574,014 37,965,908 5,608,106
= 115,000 35,000 80,000
= 4,514,736 4,336,144 178,592
B 175,000 0 175,000
[ 38,769,278 33,594,764 5,174,514
SHMEHAHEY 2,565,080 2,005,080 560,000
= 5,100 5,100 0
= 2,559,980 1,999,980 560,000
FOME TS 2,508,400 1,948,400 560,000
SHEZS - JI28 22l 2,258,400 1,698,400 560,000
201 Let2| 602,400 502,400 100,000
02 324l 602,400 502,400 100,000
o3223a % MAl 582,400 482,400 100,000

OROS ¥ JIRE ®I|R32
Z& 580,000,000& 580,000 480,000 100,000
401 A& HILS0HY| 1,656,000 1,196,000 460,000
01 AlEHI 1,656,000 1,196,000 460,000
OJtes - Bots g8 885,000 795,000 90,000
ORXE4 22
23 360,000,000 360,000 270,000 90,000
Oxt4g BorS

40,000,000 *32| 120,000 0 120,000
OHHEH At Z 5] 250,000 0 250,000
Z2HE 17,190,093 15,819,044 1,370,999
& 1,176,636 1,328,444 A151,808
X 125,000 0 125,000
= 15,888,457 14,490,650 1,397,807
27X 9,654,093 8,985,094 668,999
& 691,636 649,444 42,192
EN 125,000 0 125,000
= 8,837,457 8,335,650 501,807
TZ2RA 22| 213,585 148,585 65,000
405 KHHESH| 98,250 33,250 65,000
01 L =EFHS 98,250 33,250 65,000
OSHI| UiHl 2aHaZI| 2 65,000 0 65,000
e = rals] 864,972 864,972 0
& 571,636 559,444 12,192
i 293,336 305,528 AN12,192
101 2124 d| 785,412 785,412 0
& 517,994 506,946 11,048
[ 267,418 278,466 A11,048
03 SRA(RINHS) 22X 2+ 785,412 785,412 0
oxzE3A (L) 785,412 785,412 0




2A:

Al
M C2RAHA
tel: S22 EER=E)
SN - B SRABH) - HPAY - BES 0l aroy |l 8 o tmE==T
OJIE2= 2 & 561,600,000& 561,600 561,600 0
< 370,387 362,485 7,902
= 191,213 199,115 A7,902
OZFelg g4 27,300,000 27,300 27,300 0
< 18,005 17,621 384
i 9,2% 9,679 N384
Ofg=g & 20,280,000 20,280 20,280 0
[ 13,375 13,090 285
= 6,905 7,190 2285
O&EE Z& 15,600,000 15,600 15,600 0
< 10,288 10,089 219
= 5,312 5,531 2219
@l-FSEa= Z& 14,400,000 14,400 14,400 0
< 9,497 9,294 203
= 4,903 5,106 203
otel &S| Z& 7,800,000 7,800 7,800 0
< 5,144 5,035 109
= 2,656 2,765 A109
Og&E=Itd| d&d 56,160,000 56,160 56,160 0
< 37,039 36,249 790
= 19,121 19,911 AT
OdxtreSg Z& 19,880,000 19,880 19,880 0
< 13,111 12,832 279
= 6,769 7,048 N279
ogtad=g Z& 3,600,000& 3,600 3,600 0
< 2,374 2,324 50
= 1,226 1,276 A0
Oo2d=g 23 2,880,000 2,880 2,880 0
< 1,899 1,859 40
= 981 1,021 A40
OAIteI 22+ & 55,912,000 55,912 55,912 0
[ 36,875 36,088 787
= 19,037 19,824 NT87
4 HSRESS 79,560 79,560 0
< 53,642 52,498 1,144
= 25,918 27,062 A1,144
04 SRH(RIH 22N BEE=RES S 79,560 79,560 0
O=0HZEE 2=
3 29,640,000 29,640 29,640 0
(= 19,984 19,558 426
= 9,656 10,082 1426
O=0H2AEE 2=
Z& 29,640,000 29,640 29,640 0




2A:

Al
AN EEH4
tel: S22 EER=E)
SN - B SRABH) - HPAY - BES 0l aroy |l 8 o tmE==T
[ 19,984 19,558 426
= 9,65 10,082 1426
OLNE AMHEE FE=
d& 20,280,000 20,280 20,280 0
< 13,674 13,382 2%
= 6,606 6.898 NP
2 WSE =M 13,999 0 13,999
101 QI24H| 13,99 0 13,999
M IRIMZZ2ES 2 13,999 0 13,999
OEZ WESYXA 13,99 0 13,999
@elkal:] 102,000 210 A +6Y 12,852 0 12,852
@)=3=Eu=¢= 12,852,000 *5% 643 0 643
O2tAlH| 4,000 x21JH 26 504 0 504
C2(MAR)HE=EY 375,000 280,000 95,000
101 QI24H| 175,000 80,000 95,000
M ORNZZ2NSE S 175,000 80,000 95,000
O=28 ZHIJ| LAIAS l2H|
& 175,000,000& 175,000 80,000 95,000
IS wE Mote 600,000 500,000 100,000
401 AlEBIYL LY 600,000 500,000 100,000
01 AlZHI 600,000 500,000 100,000
OofIgug Mord 600,000 500,000 100,000
O 81 A MIItESA
Z& 400,000,000 400,000 300,000 100,000
HEAIANS(ER) 125,000 0 125,000
= 125,000 0 125,000
401 AlEHIYL 2 THYI 125,000 0 125,000
ES 125,000 0 125,000
01 AlZHI 125,000 0 125,000
OROI=MER AT Z HUIAH [FELE
] 100,000 0 100,000
= 100,000 0 100,000
OXZE1010sH (HEDE) &2 ANEE(Ys
H) CHSAHFIEEN] 25,000 0 25,000
= 25,000 0 25,000
Orsetd ¥ M2 Fhl 5,587,000 5,347,000 240,000
401 Al&BIL S THYI 5,587,000 5,347,000 240,000
01 AlZHI 5,580,000 5,340,000 240,000
otrsote & dU=ZHH| 3,780,000 3,740,000 40,000
Odle] WS Z0SeH2 FHIAY 40,000 0 40,000
OS2 FHl B2A L FHIS2 AF
Z& 700,000,000 700,000 500,000 200,000
SHYDl ZEE B:AY 30,000 0 30,000
< 30,000 0 30,000




SA: AL
NI TR
&el: 2RIt EER=E)
SN - B SRABH) - HPAY - BES 0l &y |l 8 o tmE==T
401 AIEHIZL 20| 30,000 0 30,000
< 30,000 0 30,000
01 Al&EHI 30,000 0 30,000
Ol ZES EAY 30,000 0 30,000
< 30,000 0 30,000
ZEAY 4,229,000 3,729,000 500,000
ZEAY 3,409,000 2,909,000 500,000
401 AlEHIL 20| 3,409,000 2,909,000 500,000
01 AlI&ZHI 3,400,000 2,900,000 500,000
O=& EXE&HI(H3R27, FEH23ME,
3o 8) Z& 600,000,000 600,000 300,000 300,000
ooty AlXiotE(Z2=1bad) &2 &#2F3E
AH2023E GHEH| SEWRA EE)
&& 700,000,000 700,000 500,000 200,000
Ot ZE17SH(AZ-BY) &2 2T S
AH2023E Gt SE RNl EE) 900,000 900,000 0
SHEZZAMY 2,237,000 1,647,000 590,000
SHEZZAMY 1,427,000 877,000 550,000
401 AlEHIZL 2] 1,427,000 877,000 550,000
01 Al&ZHI 1,420,000 870,000 550,000
OYLIE? S EILTTAL 50,000 0 50,000
Os0EEZZ EXEAH(ES-8a, ddn
MR0E S) 3& 1,100,000,000& 1,100,000 600,000 500,000
sHEEZ |2 810,000 770,000 40,000
401 AIEHIL 20| 810,000 770,000 40,000
01 Al&HI 810,000 770,000 40,000
OYSXF sHEZZ(SH305)FHISA 40,000 0 40,000
NSAtuS2eHEA 1,070,000 1,458,000 388,000
< 485,000 679,000 194,000
= 585,000 779,000 194,000
LOIES A JHEAH (X)) (HEAL) 120,000 358,000 238,000
< 60,000 179,000 119,000
i 60,000 179,000 119,000
401 AIEHIYL 20| 120,000 358,000 238,000
< €0,000 179,000 A 119,000
z 60,000 179,000 119,000
01 AlZHI 120,000 358,000 238,000
02 2sZ2Y L2579 HHALY
&4 60,000,000 60,000 82,000 A22,000
< 30,000 41,000 A11,000
[ 30,000 41,000 A11,000
0¥ LNBZ2Y L2571 JHH ALY
3% 60,000,000 60,000 9,000 232,000
< 30,000 46,000 16,000




A AL
MM C2AHAE
o St S2el i A CEEE)
M- SA(3) - MRAY - BES Ofl &kl I & A Hlwsz
= 30,000 46,000 216,000
O5lY SLETARY L2572 H I AL
28 02 0 92,000 A92,000
[ 0 46,000 246,000
= 0 46,000 A46,000
ONFE SIRAZY o85S LAY
28 02 0 92,000 A92,000
& 0 46,000 A46,000
= 0 46,000 246,000
WSOHMAlL 0 150,000 A150,000
= 0 75,000 A75,000
= 0 75,000 A75,000
401 Al HIZL 200 0 150,000 A150,000
[ 0 75,000 275,000
= 0 75,000 A75,000
01 Al&ZH| 0 150,000 A150,000
OZe HYB=Y SHOUMIAFEZ WSOt
HAIEALS 43 03 0 70,000 A70,000
& 35,000 A35,000
= 35,000 235,000
ONF SIAABZRY SHOIMAETE WSot
A ALY 43 0 80,000 280,000
[ 40,000 240,000
= 40,000 40,000
SEEHS KA 13,951,080 11,805,400 2,145,680
= 80,000 0 80,000
& 2,466,000 2,456,000 10,000
EN 50,000 0 50,000
= 11,355,080 9,349,400 2,005,680
S MAD|BHEH| 11,661,080 9,615,400 2,045,680
[ 812,000 812,000 0
EN 50,000 0 50,000
= 10,799,080 8,803,400 1,995,680
A2 sEIEAIE JY| 1,046,080 960,400 85,680
201 B2 AY| 140,080 54,400 85,680
01 At 2elt] 115,080 29,400 85,680
O=DBAIE (2B E) XLl 85,680 0 85,680
O=28 2328 A =28 85,680 0 85,680
A2R2sHIBAIZEHI(s2 1,370,000 1,190,000 180,000
401 AlEHIZ20HY| 1,370,000 1,190,000 180,000
01 Al&HI 1,370,000 1,190,000 180,000
O==2FH| 180,000 0 180,000
Ogs SEX7 s2(LWE) JHIAY 20,000 0 20,000
Ogs HEXT 528 ZEAE 60,000 0 60,000




SH: AL
M sEgAg K
Rl ST BHE EER=E)
SA - ZHY - CA(BIH) - HRAY - BES 01l & ol & o TimE=E]
| Ol 42012 58 HEA3A 100,000 0 100,000
ARRELIIPAILEHI(BHIS2) 2,960,000 2,655,000 325,000
401 AIEHIL = h| 2,960,000 2,655,000 325,000
01 Al&H 2,960,000 2,655,000 325,000
o88+2 F| 325,000 0 325,000
Ottt DISOHS BH42 FHIZA 30,000 0 30,000
08l EAX7 Sb+2 HHIZA 3,000 0 3,000
Ost BENXIP Sb+2 HHIZA 50,000 0 50,000
Ogs =17 BHi+2 FHIAL 50,000 0 50,000
Oge M2 S+2 FHIAY 60,000 0 60,000
Oge 2II0ke SHh+2 SHIAY 40,000 0 40,000
Ol SEXP SHi+2 FHIAY 60,000 0 60,000
AR RELIIAIL T (SHBSNY) 1,590,000 1,090,000 500,000
401 AIEHIL = | 1,590,000 1,090,000 500,000
01 Al 1,590,000 1,090,000 500,000
OsY8SIHL 500,000 0 500,000
Oatet HHMI? WX ZHAR(1KH) 100,000 0 100,000
OOt HEX? HEX o 2LAY 100,000 0 100,000
ON7 SO HEX ZEA(1XHE) 300,000 0 300,000
ARDSHI|PAI LTI (AF) 1,306,000 840,000 465,000
101 01218 87,500 0 87,500
VIBIEDTEESEERS 87,500 0 87,500
OARX HMLEHIDI(I2AH) 87,500 0 87,500
ODY AFX ML 4,000 0 4,000
Ot AR ML ZHDI 3,000 0 3,000
OstY 28X MLZH| 2,500 0 2,500
0810l 28X M ZH7| 5,500 0 5,500
Oazl 28X M ZH| 5,000 0 5,000
Ot ARX ML ZHD| 6,000 0 6,000
O ARX MLEHDI 3,500 0 3,500
022 2RI M| 5,000 0 5,000
OME 2FX M| 7,500 0 7,500
OTE ARX MEHD| 9,000 0 9,000
O3l3t 25X M| 7,000 0 7,000
OO0t 28X M ZH| 9,000 0 9,000
Os8l 27X M| 7,500 0 7,500
ONF 25X HEEH| 13,000 0 13,000
201 ek 87,500 0 87,500
01 Al =2lb| 87,500 0 87,500
OARX HMLEHIN(FHILX) 87,500 0 87,500
ORnY 2RI LY HHIAR 4,000 0 4,000
Ot 28X MLEHD| ZUIYR 3,000 0 3,000




SN AL
NI SESG ALY
el e8|l (Gt H2)
M- SA(3) - MRAY - BES Ol &koy N3N Hwsz2
oot AFX M0 ZEHILX 2,500 0 2,500
Odtol 2FX MYZ2HID| EHIYXt 5,500 0 5,500
O&el 2FX NYZ2HID| ZHIYXt 5,000 0 5,000
Ot 22X MEZHIDI HHILR 6,000 0 6,000
Ogds AFX Y20 EHILX 3,500 0 3,500
Og2 22X MYZEHIDI HHILR 5,000 0 5,000
OJE A2F2X NE2HID| ZHILXt 7,500 0 7,500
OT8t 22X MYZEHID| HHILR 9,000 0 9,000
Ozlst 22X MEZEHIDI ZHILR 7,000 0 7,000
O0r 22X MEZEHID| ZHILR 9,000 0 9,000
Osdl 2FX MY2HID| EHIYXt 7,500 0 7,500
ONE 22X MYEHDII HHILR 13,000 0 13,000
401 Al HIZ 20| 1,130,000 840,000 290,000
01 A& 1,130,000 840,000 290,000
OARXIHH] 290,000 0 290,000
OAale| THY2AZK FHIAIZ (1XH2) 20,000 0 20,000
Oatel SEAFX I AHHAHE (EAP) =8
29 50,000 0 50,000
OYQ 2AAFI FHIAIZ (1XH2) 50,000 0 50,000
OTet MSAARK| HHIZAF 20,000 0 20,000
OO0 UEMARK HHIAIY 100,000 0 100,000
OO0 SAMAZ T HHIAIY (1XH2) 50,000 0 50,000
ATDSAIBAIE FH(XIZTHTI A L Jp2) 350,000 320,000 30,000
401 AlEHIZ 2] 350,000 320,000 30,000
01 A& 350,000 320,000 30,000
OXIZ I A L II2A2FY 30,000 0 30,000
OYs HE0IS XU HHIBA 30,000 0 30,000
22| *2lAlE SX2eldl X 350,000 210,000 140,000
307 2120l & 100,000 60,000 40,000
02 QIZHHE A AL E X 100,000 60,000 40,000
O%=clHZ=elAlE SXi2eld]l X (XA
S) &3 100,000,000 100,000 60,000 40,000
401 Al&HI 22 OHH| 250,000 150,000 100,000
01 A& 250,000 150,000 100,000
2| H=2lAld RX2te
AF 250,000,0002 250,000 150,000 100,000
I ZMEOIH(SHES) (HEAIY) 1,490,000 1,220,000 270,000
401 Al HI L 20| 1,190,000 920,000 270,000
01 Al&HI 1,190,000 920,000 270,000
OIIHSEEZ SHEFAIY
A3 1,190,000,0002 1,190,000 920,000 270,000
THH A A (= DIBFAIE FI) 50,000 0 50,000
= 50,000 0 50,000




2A:
X XH -
o e

=aak

243}
sE5 N
SO A BHE |

M- SA(3) - MRAY - BES (1;| Palgely I & A Hlns
401 AlEHI2L 20| 50,000 0 50,000
= 50,000 0 50,000
01 Al&HI 50,000 50,000
OXNS0IE A (=2 HZE) LA =S
HEN] 50,000 0 50,000
= 50,000 0 50,000
S THGH Ol 2,020,000 1,920,000 100,000
= 80,000 0 80,000
[ 1,654,000 1,644,000 10,000
= 286,000 276,000 10,000
sttt 24002 (=HI) 100,000 0 100,000
= 80,000 0 80,000
[ 10,000 0 10,000
2 10,000 0 10,000
401 AlEHI2L 20| 100,000 0 100,000
= 80,000 0 80,000
(= 10,000 0 10,000
2 10,000 0 10,000
01 Al&HI 100,000 0 100,000
OJt2HI 2201 100,000 0 100,000
Oatdt HUT2 JISUHI SEIMLAIY 100,000 0 100,000
= 80,000 0 80,000
(= 10,000 0 10,000
2 10,000 0 10,000
2312 L stEFY| 9,770,366 8,266,634 1,508,732
= 35,000 35,000 0
[ 867,000 546,600 320,400
= 8,868,366 7,685,034 1,183,332
SHEEHI ALY 9,770,366 8,266,634 1,508,732
= 35,000 35,000 0
[ 867,000 546,600 320,400
= 8,868,366 7,685,034 1,183,332
Xgotd SXE2IA(EX) 124,000 280,000 156,000
[ 62,000 140,000 78,000
= 62,000 140,000 78,000
401 AlHI2L 20 124,000 280,000 156,000
[ 62,000 140,000 78,000
= 62,000 140,000 78,000
01 Al&ZHI 124,000 280,000 156,000
OXIEEIE SXIZ2IA (AL BXIA)
a3 o 160,000 160,000
(= 80,000 80,000
= 80,000 80,000

@
|




A A8
M SRXF L otE Y|
el S EHIAY (St &)
SA - ZE - SA(FH) - AIRAY - BES Oi &k N3 A Hunsz
OXIgstd FX2el(ZEHDNAIZ(DE 0y
&) Z2& 16,000,000& 16,000 20,000 24,000
T 8,000 10,000 A2,000
= 8,000 10,000 22,000
OXIZotd S22l (EHDNAE (DY S0
&) ZE 02 20,000 220,000
= 10,000 210,000
i 10,000 210,000
OXIZotd FXIZ(EHIDI)AIG (CHOF A
&) A 0 20,000 20,000
=S 10,000 10,000
z 10,000 10,000
OXILotd SXIZl(EHIDI)AIG (el &S
&) 433 0 0 20,000 20,000
= 10,000 210,000
i 10,000 210,000
OXgotd S22 (BHINAIE (ZE I
) Z& 30,000,000 30,000 20,000 10,000
& 15,000 10,000 5,000
= 15,000 10,000 5,000
OXILotd Sl (EHINAIE (2 2
&) 2 & 78,000,000& 78,000 20,000 58,000
L= 39,000 10,000 29,000
i 39,000 10,000 29,000
KL ELAIH(EX) 452,000 300,000 152,000
= 226,000 150,000 76,000
i 226,000 150,000 76,000
401 AIEHIZ 2018 452,000 300,000 152,000
= 226,000 150,000 76,000
i 226,000 150,000 76,000
01 AlEHI 452,000 300,000 152,000
OXIYotd FELA(FS FHY)
Z& 322,000,000 322,000 150,000 172,000
= 161,000 75,000 86,000
= 161,000 75,000 86,000
OXlgotd F=LA (DS DHHA)
Z& 130,000,000 130,000 150,000 A20,000
T 65,000 75,000 A 10,000
= 65,000 75,000 210,000
Agots EXE 8X L HE(EX) 18,000 13,200 4,800
= 9,000 6,600 2,400
= 9,000 6,600 2,400
401 AlEHIZ 20| 18,000 13,200 4,800
= 9,000 6,600 2,400
= 9,000 6,600 2,400




A AL
. =718 € ot EH
&2l oHE EHIAKY (SH &)
SA - B - SA(SH) - MRA - BAS ol &r o H o HIDS2
01 A=l 18,000 13,200 4,800
OXlgotd EXIZ AX & FHHI(6HL)
Z & 18,000,000& 18,000 13,200 4,800
&< 9,000 6,600 2,400
= 9,000 6,600 2,400
UG FHI(EX) 1,100,000 500,000 600,000
== 550,000 250,000 300,000
s 550,000 250,000 300,000
401 AIEHIZL 2 0HYI 1,100,000 500,000 600,000
< 550,000 250,000 300,000
s 550,000 250,000 300,000
01 Al=H| 1,100,000 500,000 600,000
Ogs ASIA (M) HHIAY 600,000 0 600,000
== 300,000 0 300,000
[ia 300,000 0 300,000
SHEJIE Al S 593,000 573,000 20,000
401 AIEHIZL 2 OHYI 405,000 385,000 20,000
01 AlZHI 405,000 385,000 20,000
O78F =HAGHE JIdMEHIAL 20,000 0 20,000
St S RI2el (KHHl) 567,032 574,100 A7,068
201 Zet2& ] 7,032 14,100 A7,068
02 3224l 7,032 14,100 27,068
OnsAl =2 HJ|Q=
2 & 1,320,000 1,320 1,200 120
Octd J&xd ML=
Z& 2,520,000 2,520 2,400 120
OATHE HEZIANAE SARSB
23 1,320,000 1,320 9,600 28,280
OAcHE HEZEIANAE &Iz
23 1,872,000 1,872 900 gre
St FHI(A 5\_)(55._ ted) 3,212,34 2,812,334 400,000
401 AIEHIX SO 3,212,334 2,812,334 400,000
01 AlZHI 3,212,334 2,812,334 400,000
ONE d=A06HE FHIAIY (HE)
&3 550,000,000 550,000 150,000 400,000
A0t =7 X2 1,817,000 1,397,000 420,000
401 AIEHIZL 2 0HYI 1,817,000 1,397,000 420,000
01 A&l 1,810,000 1,390,000 420,000
O1N4 &8d 522 A 150,000 0 150,000
014 Ssd NEE FLAY 20,000 0 20,000
ONd SHE E&57 AFMZAIE EXAM
& 140,000 0 140,000
O1d HEfotd=E HEFEHES 60,000 60,000
OME t=4otd FXI2CIAY 30,000 0 30,000

_10_




2A:
X XH -
o e

=aak

SA-3Y - SRA(SAH) - MRAY - BES & A HunsZ
o0 THAGHE KX 20,000 0 20,000
ot& DIESX 24 80,000 50,000 30,000
401 AZHIZ =Y 80,000 50,000 30,000
01 A& 80,000 50,000 30,000

o0l Bol EX 243

2 80,000,000 80,000 50,000 30,000
B AME BAICHAIM 40,000 0 40,000
= 20,000 0 20,000
2 20,000 0 20,000
401 AZHIZ 2 0HY| 40,000 0 40,000
= 20,000 0 20,000
= 20,000 0 20,000
01 Al&H| 40,000 0 40,000
OBHEE AME BATSAIL HXIAY 40,000 0 40,000
= 20,000 0 20,000
2 20,000 0 20,000
HH2HAY| (AL D) 69,700 69,700 0
SEZHI(ALD) 69,700 69,700 0
o1t 38,400 38,400 0
202 OfH| 38,400 38,400 0
01 2UH oA 17,280 24,000 16,720
O3401t| A3 17,280,002 17,280 24,000 16,720
02 01| 21,120 14,400 6,720
CERIVE] 3 21,120,000 21,120 14,400 6,720
WP ES (214 D) 27,6% 0 27,6%
NEIES 27,6% 0 27,6%
I EEECE) 27,6% 0 27,6%
802 BH=12DEH 27,6% 0 27,6%
® Al - SHIZX30E3 16,710 0 16,710
OZHISZS gHa3 2,478 0 2,478
OZHIBZES 282 0IR 14,232 0 14,23
03 JIEtEHEIES 10,985 0 10,985
OJIEtEHES 10,985 0 10,985

_11_




